TH1 CANopen 1-4~X¥=17)\ | TH1 CANopen UserManual NOVOtECHNIK

2.1 ERan

2.2 1A R=ILEES

2.3 ER2HRT 3

2.4 SATFLDERZEAND
2.5 REEZEET S

2.6 HEEZTRER T D

2.7 PSR ENF

N NNNNNN

6.1 IS5>T%T M18x1.5 5
6.1.2 BeE 6
6.2 RS>3>v—H— 7

N
=

M16x0.75 ( J—K 105)
M12x1 ( J—K 106)

N

N
N
-]

Page 1

Siedle Gruppe

2.1 Intended conditions of use 2
2.2 Installation & startup 2
2.3 Check connections 2
2.4 Turning on the system 2
2.5 Check measured values 2
2.6 Check functionality 2
2.7 Failure malfunction 2

6.1 Screw flange M18x1,5 5
6.1.2 Installation example 6
6.2 Position marker 7

7.1 M16x0.75 (Code 105)
7.2 M12x1 (Code 106)

0 N



TH1 CANopen 1=t=A¥=17 ) / TH1 CANopen User Manual

1 =
TH1 2 U—X(3, &, BRCALSNZBRE7IVI1— MM ATD
FEMNSORFT1-HYTY.

2 R2LEDTER

L ORT(E, MAEFE(EMEFEHAE CEERNICAREINTHE ST
RFHNFREFES. FHICABCREEDHRTOFERFHFIETNTVEE A,
FEHICDOWVWTIE. MR EZE LIS,

2.1 EABEN

RS2 RFa1—H(E BREZESRFTACKRET D EZBNELTNET,
J>bO—-5— (PLCH) &—HICMHEBAES AT LZEBHRL. COBEHIC
DHEATEET, s, NBEUMER. Fz@EA > b—ILFIROFETE,
FREEDIEKR(CDIND . BEEFREZEDCLET.

2214 A M-I EiEE)

RS2 RFTa1—HF. BETIINTORERHEERL T, BitDHDIEY
ENRETDRENHDET,

hS2 AT 1 —HORMBEZGHEDHECAB CHMERRET DHICLE
RINTHOREMRE. EBRICERITIDBENSHDFET,

2.3 EREERTD

NEYMEREBBER. ST 1-UZEEITIUEENDDET.

SRFLADEFEEANDHIC, LI EHEETRR<HERLTIZSN,
HHEERE GND &155 GND DOEBIZE(BIFTIIZEL,

ﬂ HIGEE GND 155 GND OBIDBAINERD &\

hS2RFTa1—Oh RSN DM DET,

2.4 SRAFLADEREAND
SATAF BICRSORT1—HDIN\SA—INEERESINT
WRWHIHIS A7 LAD—ETHDIHE. RYDEFRRAR(CHIEESNT
WRWEWEZEITI DIHEN B DET,
LIzt T SN ABYRME (CRERARERVKDICL T ZE0,

2.5 MIEEZ#EET D

FSXFTa1—HOXMEE. FHE-RTRSSI>I-—H—ORIBMIE S
RTAIBEOHNMEZHR TS EZ2BEHLET.
(FSYRF1—HREEBFZFRENEDHRERDET)

2.6 HERTERT D
NS RFT1—HBEBNICEET DI N TDIR—R> hOBEE
FIvoULTLIEEL,

TEHARY(C

2.7 iPEERENME
FSXFT21-ONBEYCEMELRVGEER. RAZELEL. REERANS
RELTLZSEN,

Page 2

novotechnik

Siedle Gruppe

1 General description
The TH1 series is a magnetostricitve transducer for direct,

accurate measurement of travel in display- or feedback applications.

2 Safety instructions

Our products are regularly not approved for aeronautic or
aerospace applications and are not allowed to be used in
nuclear or military, in particular ABC-relevant applications.
For more information see our Terms and Conditions.

2.1 Intended use

The transducer is intended to be installed in a machine or system.

Together with a controller (e.g. PLC) it comprises a position measuring system and may only be
used for this purpose.

Unauthorized modifications, improper usage or nonobservance of the instructions for installation
will result in the loss of warranty and liability claims.

2.2 Installation & startup

The transducer must be installed by qualified personnel in consideration of all relevant
safety regulations.

All necessary safety measures to protect personnel and property in case of a transducer
defect or failure must be taken before startup.

2.3 Check connections
Improper connections and overvoltage can damage the transducer.
Check the connections always carefully before turning-on system.

Potential differences between supply voltage
GND and signal GND must be avoided.

With different potentials between supply voltage
GND and signal GND the transducer can be destroyed!

2.4 Turning on the system

The system may execute uncontrolled movements during first
A turning-on mainly when the transducer is part of a control system
whose parameters have not yet been set. Therefore make sure that
hereof no dangers for personnel and property can result.

2.5 Check measured values

After replacement of a transducer, it is advisable to verify the output
values for start- and end position of the position marker in manual mode.
(Transducers are subject to modification or manufacturing tolerances)

2.6 Check functionality
The functionality of the transducer system and all its associated
components should be regularly checked and recorded.

2.7 Failure malfunction
If the transducer system doesn ‘t operate properly, it should be taken
out of service and protected against unauthorized use.



TH1 CANopen 1~t=A¥=17 ) / TH1 CANopen User Manual

3 BENF—4
BHATIE :

HEE :

24 VDC (13...34VDC)
< 100mA —HgH

3.1 ERDOT7 —RET—TIVDZ—ILR

EUSEMEL. BAEEWIETDICE. U —=HIND T — X (CHER
TRIMENDDET, NEEE. >V — EHIROMDERDY & OBkt
BIERIC I > TERAENET.

U —HHRICER (CHER SN TL\ 255, ERIoEhE. LeX(E
UL —(CHEBENA NSy T2 ER L CHRIDIBENSDFET,

WEE> Y E. EBROBES YUY —(CL> TEDICS—ILRENTVET,
E5IC, ARVPEREFT=TILA>E> hENLT, THTEHI(IC
ERID=—IL FhRfENE T,

HF FEAROMEE(E, >—ILRT—TILZ2ERTIRENDDET.
I—H—0EthOBRICIEC T > —JL RoFRIFEZEEAZ
HE OO TR T DEN' S BN ESHVERR T DR ENSDET,

3.2 EMC
EMCRIE(F, B#ES D> —TEMENE L.
ZRU. BRI USY—2=ERYT 3 L. AIESNZ EMCERKIEIC
RIQDEHREMEN DD FET,
LR o TEERFZ TV -2 3> TR S RXFTLA2EEMBD EMC
TANINTBBENSHDET .

3.3 iFiE

U —FZ(FBHET DO R—R hOBIEESER (S,
BEERCEIDEYERES—INADEGZRITDZHIC, UTFZEST
TIMENHDFET,

- TENE, BEAICEC U ZERONTRENSDDFT.

- L OPRAFENTVBHER, BRI TOE SR Z T 20BN S DFT.
- BRIy SNBSS ) VA —FFEX ROy RICERULBVTZEL,

Page 3

novotechnik

Siedle Gruppe

3 Electrical data
Supply voltage: 24 VDC (13...34VDC)

Current consumption: < 100mA  typical

3.1 Machine ground and cable shielding

For correct operation and to compensate potential
differences, the cylinder must be connected to machine
ground. This is usually given by the mechanical contact of the
cylinder with the other parts of the machine.

If the cylinder is connected to the machine separately, a
separate grounding must be ensured eg by an grounding
strap directly to the cylinder.

The built-in sensor is shielded sufficiently by the metallic
hydraulic cylinder. Additionally, the factory does provide a
separate shielding via the connector or cable outlet.

é In case of strong HF interference, it is necessary to use
shielded cables. It requires checking, depending on the
user’s grounding concept, if only one side or both sides

of the shield should be connected to machine ground.

3.2 EMC
The EMC measurements were accomplished in a reference cylinder.
ﬂ The measured EMC values can however deviate clearly when
using different cylinders!
In critical applications it is therefore necessary to submit
the existing complete system to its own EMC testing!

3.3 Welding

When welding on the cylinder or adjacent components,

the following must be observed to avoid any damage to

the sensor or seals by welding current:

- preferably, the sensor should be removed before welding

- with a built-in sensor, all sensor connections must be disconnected during welding

- the grounding connection of the welding unit must never be attached
to the cylinder or the piston rod



TH1 CANopen 1=4=AV=17 )l | TH1 CANopen User Manual

4 14> XA M=IVFIR

SUSAH-NTOEER NO-TREDHE, RS23>X—H—3FSUSS-DEX
RUEBDICERE 2 AR M3 EF2[F M4 (R 3>X—-H—-(CIELT) TEETS
BENSDET,

M4 ZSOfEDIFF MLIBRAR INTY. H30E RSS2 3>V—H—%RIHE

U OFEREANER CEES S EETEET,

BIRETHNE, MRRDS 3> Y- N—2REFID/2(C. FFHEMR (RT> LRI,
BE50 3. VILZZOLRE) 2RI 20BN SHDET ., RECESU T IR~
H—DOwIv— (BE5mmBlt) ZRS>3>7—H—EEX NV ESBOMICER DT
FEY. RI>3>T—H—F0v RE3EFFTREEFTEFR A,

ROV 1—=T S BAERIRERMBIDS U >4 — (CEID T Bi5E,
COSKERDORTS 3> —N—ES U S —MOERN, #amcm<
&6 15mm TH D EZHER LT IZE),

BRORTS 3 >I—-D—2RmA /-3 > DFE.
R 3> —H—RIDERFD < &6 100mm TRIFNUFRD EE A

S XFT1-BDT EL [RVERFLZEHWENHD & E5ICHES
PRETSEIEEMEN G DET .

TIBEABISOD (SW46) AN U TRURADRENGDET,
BAROHMT MLD(E 50Nm ZBX AWK S(CLTLEE L !

EXb>Ov RORT(E EHEBERE(CIGL THRBEITINENHDET,
HRETNDINDER(E DK > 12.7mm TY,

HBD O U JF. RUAHNRNTSULA —DENBEFES—ILLET.
IS oEMEE. YUY —0MIEd DEMECTRICAREY 2UEND
DET,

BRI (CEESNIEEN 1000mm 28X 3EM NS VAT 1 —H=KFE(C
BOFF3%AEE. THL Oy ReSR— b330, kICIRDAITDHEN S
DFEI., TH1 Oy ROIRKFEFENSRET DIVENHDET.

T—=TILOWERETDRANR-ZATHIVENHD. BT FEEETL.
BOTY TR ENSDET.

5 ek

BERERZITSLER. RORICERTILENHDET .

X5/ (BIREGND) &EHlfilF+ExRy b (S5 GND) (&
BUBMTHDIRENSHDET,

BRI (EMC) ZRIET DIHIC. UTDEREZETI 2NENSHDFT !
o {[B NS AT1—HLHEER, S—ILRT—TILTERTDHENSGDET.

o Z—)L R B4 DIFFROMREE. 85%DWER,

o FIEMAI T, U—TIL>—IL Rz I DHRENSHDET.

DFED. REGKR(CIERIDVENHDFET,

ﬂ =T )ViERIE 30m ZBX CERI D LEFTEERA !

Page 4

novotechnik

Siedle Gruppe

4 Instruction for installation

For direct stroke measuring in a cylinder the position marker
has to be fixed with 2 screws M3 or M4 (depending on the
position marker) directly on the cylinder ‘s piston bottom,
fastening torque for M4 screws max. 1 Nm.

Alternatively the position marker can also be fixed by a
threaded ring or by an press-fit-connection. For the mounting
of the position marker non-magnetic material (e.g. stainless
steel, brass, aluminum) has to be used preferably.

If necessary a non-magnetic spacer with min. 5 mm thickness
has to be mount between position marker and cylinder ‘s
piston bottom. The position marker may not drag on the rod.

When the screw flange will be mounted in a cylinder of
magnetizable material, it ‘s important to have axially a
electrical spacing of min. 15 mm between position marker in
setting to zero point and cylinder!

For the versions with several position markers the distance
between the position markers must be min. 100 mm!

Strong electrical or magnetic fields in the immediate vicinity of the
transducer may lead to faulty signals.

The sensor has to be screwed in via the hexagon flange (SW46).

The maximum tightening torque must never exceed 50 Nm when
fastening down the sensor head!

The bore in the piston rod has to be laid out dependent on the pressure
and the velocity of the movement.

The recommended bore diameter amounts to Dk > 12,7 mm.

The provided O-ring seals the pressure area of the cylinder at the
screw plug hole. The contact surface of the flange must rest completely
against the mounting surface of the cylinder.

For horizontal mounting of transducer with a defined electrical range
longer than 1000 mm the TH1 rod should be supported or attached at
ist end.

The end of the TH1 rod has to be protected against wear.

For the area of the cable please take care that enough space is available, the
minimum bending radius has been observed and sharp edges have be avoided.

5 Wiring

Note the following when making electrical connection:

System (supply voltage GND) and control cabinet (signal GND) must be
at the same potential.

To ensure the electromagnetic compatibility (EMC), the following
instructions must be strictly followed:

e Transducer and controller must be connected by using a shielded cable.

¢ Shielding: Copper filament braided, 85% coverage.

¢ On the controller side the cable shield must be grounded,

i.e. be connected with the protective earth conductor.

ﬂ Cable connection may not extended over 30m!



TH1 CANopen 1-#-A¥=17)b / TH1 CANopen User Manual  nOvOtechnik

Siedle Gruppe
6 1 > X h—JL / Installation
6.1 RHUU1—IJ5>3 M18x1.5/ Screw flange M18x1,5
30mm (CEPOSN G DHmMAER I — R 102 E/z(F 106
Mechanical confiquration code 102 or 106 with zero point at 30mm
115 70 =1 30 L 40
10.5 245 (2—-r MA102)
|05
/’——\ &
& 1 1 5
e T I bt Y H
S| L] [ mowtechnik IS | 1 S S S— |
3 e | . i =y
st L T T < ST
"\—/ o | [
X L : 475
l (9—r MA106)
7ot9J [ accessories i
RS 3> —H— Z-TH1-P18, Z-TH1-P19, Z-TIM-P20 > - -
position marker Z-TH1-P18 or Z-TH1-P19 or Z-TIM-P20 —5—+-4 - -
¢ o Méxé
51mm ([CEOSN D DHEmMAAER 1 — K 104 /(3 108
Mechanical configuration code 104 or 108 with zero point at 51mm
11.5 70 1 51 L 63.5
105] 245 {(3—r MA104)
Jos
BT nowstechnik '\1‘ P> > | 2
[=] [ ' i
3 all S .. B — ——1
L
(3—K MA 108)
7otHY [ accessories p I
RS 3><—H— Z-TH1-P18, Z-TH1-P19. Z-TIM-P20 b - - E‘\
position marker Z-TH1-P18 or Z-TH1-P19 or Z-TIM-P20 & 1 Méxé
I.-—-—-i
0-Ring
o ouxs
X 2:1 D15.4x2.1
2 Q) +—-—fHt-——- F;
=

05

Page 5



TH1 CANopen 1-4-Z¥=17)l / TH1 CANopen User Manual  hOvVoOtechnik

Siedle Gruppe
B.1.2 RE&EH | nstallation example
O-Ring
ouxy Uy — EXh>fEER ROV R
"7.‘.'-! 18 dx2 0 mider . igion red 'with pisien

"Ir'.ll II,'I; /
| , /_ I £

7
P il i — il

( 7R\ \ _

1\ NI

/ ; 77777777
\ 00

A
I

| 'x
s —JILOR R E |
' 50mm (6+0.2) | 7O U | accessaries
% min. berding radius S0mm for | RS2 3>¥—H— Z-TH1-P18. Z-TH1-P19. Z-TIM-P20
' NT-slandard cable | 06 +0.2) | position marker I-THI-FI8/ Z-TH1-F17/ I-TIM-FZ0
il X, BILTERVEM FHll X, BHCTIRBIRFEM
Detail X. non-magnetizable material Detail X. magnetizable material

min.22

RS2 3>v—h— _ . .
by marier - min.22 min.15 x min.5

HAETERNAR—T—
Rih-RapRElEal dpate

s

Q-Bmng
o>y

¢ 25

M18 x 1.5
¢ 25

M18 x 1.5

RS23>v—hH—
gitign marker

BENLOR Eei e
30/51 shecirical pero paini 30 lpctrical 3era paini

< &

Sl Y
Detail Y

ISO 6149 ([CHERU =R T ST
(0 UZTS—)LIRLTER)

srew plug hole per IS0 614%
(shown without e-ring seall

+0.1

$19.8
/?0 e
X
A
-
$%

o,
M18 x 1.5

2.4+0.4

Page 6



TH1 CANopen 1~H~Z¥=17)\ | TH1 CANopen UserManual NOVOteChnik

6.2 RS> 3>V —7h— /Position marker

@32
@13

@43

U

Ee

o vl

7 ESIES /Electrical connention

Z-TH1-P19
P/N 005698

7.1 M16x0.75, 6 E> 735> 4% /6 pin frange Connector
EXI— Rofl : TH1- _

17

( J5>2Oxo5DIEREH

Page 7

M14x0

115

_ _ -105/Example ordering code: TH1-

Siedle Gruppe
78
: ~y
wf L=t I el
& o -lof + Y& e ek
NS
18,5

Z-TH1-P18 Z-TIM-P20
P/N 005698 P/N 005698

- - -105

nawatechnik

I Pin configuration

| front view to the flange connector )

£2 / Signal E>&DHT / Pinassignment
M16 J*2% / M16 connector
d— R -105-
HHEEE Ub / Supply Ub ©>5 / pin5
GND E>6 / piné
CAN high E>2 / pin2
Can low E>1 / pinil
=—J)LR / shield E>3 / pin3
##H/R2L / do not connect E>4 / pin4d




TH1 CANopen 1—H-Z¥=17)) | THL CANapen User Manual  novotechnik

Siedle Gruppe

7.2. M12x15E>I5>3a%94 | 5pin flange connector

EX—Rofl/ Example ordering code: TH1-____-___-___-106
13
< novstechnik ‘ ]
o — | THI-IRE- 11000003 -
E E@ YYVYYY / IZITIIIT |

E>i##n | Pin configuration
(' JS>axos9niEER !/ front view to the flange connector )

5 £2 / signal E> 208 T / Pin assignment

e M12 2% / M12 connector
= J—R -106-
(% ) SETE Ub / Supply Ub E>2 / pin2
\.H,// GND £>3 / pin3
< B = CAN high E>4 / pin4
Can low ©>5 / pin5
CAN>—JLR / shield E>1 / pint

8 CANopen f >#—2J1—X / CANopen interface

CANopen (>4~ —J1—REBF5—4>— b (EDS) DiRBAIE. Novotechnik iIR—AR—D [AFT>0O— R /ERAAE ]SS D>0O0—- RTEEY,

The description of CANopen interface and the electronic data sheet (EDS) can be downloaded from Novotechnik web site,
see Downloads/Operating manuals.

Page 8



TH1 CANopen 1=t=AN=17) / TH1 CANopen User Manual

9 WERFIEHY

e RS 3>T—H—
e RT3 >V—hH—
e USRS 3> —H—

ﬂ TH1 2 U—XDRT2 3> —H— (Z-TH1-P18 BKXU -P19) &
B ICR—TE>H D FEE A

Z-TH1-P18 (P/N 005697)
Z-TH1-P19 (P/N 005698)
Z-TIM-P20 (P/N 005699)

10 AF> 3> accessories
e M16x0.75 (IEC 130-9):6 EEREAXARIRIS . ANL—
EEM 33-82. P/N 005639

e M16x0.75 (IEC 130-9):6 EHEARIRTS. 7>)L
EEM 33-94. P/N 005648

e M12x1, 5 E> fREARX RIS, AL — K
JA V7 —4"—< 6...8 mm. &K 0.75 mm?2
EEM 33-73. P/N 005645

e M12x1., 5 ESEREAR RIS, T2
JA4Yv—4—= 6...8 mm. &KX 0.75 mm?
EEM 33-75. P/N 005646

e M12x1. 5 E> =D)Lty hXAXORI45, X ~L— k CAN-Bus
Az PUR & —J )L, IP67, A—T>TIT >R

f£& 2m. EEM 33-41. P/N 056141

£ 5m. EEM 33-42. P/N 056142

= 10m. EEM 33-43. P/N 056143

e M12x1, 5E> 4H—J)ltty AR/ ARXOARDE . AL — .,
CAN-Bus fkfiZ PUR o —JJLATE, IP6S :
& 5m. EEM 33-44. P/ N 056144

e ATVYAH—/TOARUA L1 M12, 5E> AXORIFx 1,

M12, AROARTIX 218 :
EEM 33-45. P/ N 056145

e M12x1, 5, AXJRT4. CAN-Bus. #&imiEHi. 120 Q :
EEM 33-47. P/ N 056147

o Hift7w ~ M18x1.5. Z-TH1-M01, P/N 056090

11 #Exa—k

HRERBEFXFTERHINTVET

TMI 2 U—XDRT> 3> Y —H—.DFED Z-TMI-P02 SLT -P14 (&,

H#fES CANopen 1 V9 —TJ 12— 6_

novotechnik

Siedle Gruppe

9 Required Accessories

e Position marker Z-TH1-P18 (P/N 005697)

¢ Position marker Z-TH1-P19 (P/N 005698)

¢ Ring position marker Z-TIM-P20 (P/N 005699)

The position marker of the TMI series, i.e. Z-TMI-P02 and -P14
are not technically identical with the position marker of the TH1
series (Z-TH1-P18 and -P19).

10 Optional accessories
e Mating female connector, straight M16x0.75 (IEC 130-9):
6-pin, EEM 33-82, P/N 005639

¢ Mating female connector, angled M16x0.75 (IEC 130-9):
6-pin, EEM 33-94, P/N 005648

e Mating female connector, straight, M12x1, 5-pin,
for wire gauge 6...8 mm, max. 0.75 mm?2,
EEM 33-73, P/N 005645

e Mating female connector, angled M12x1; 5-pin,
for wire gauge 6...8 mm, max. 0.75 mm?2,
EEM 33-75, P/N 005646

e Cable set - female connector M12x1, 5-pin, CAN-Bus
straight, with molded PUR-cable, IP67, open-ended:
2m length, EEM 33-41, P/N 056141

5m length, EEM 33-42, P/N 056142

10m length, EEM 33-43, P/N 056143

e Cable set — male/female connector M12x1, 5-pin, CAN-Bus,
straight, with molded PUR-cable, IP68:
5m length, EEM 33-44, P/N 056144

e Splitter/T-Connector, 1:1 connection, M12x1, 5-pin, with one
M12 male and two M12 female connectors:
EEM 33-45, P/N 056145

e Terminating resistor, M12x1, 5 poles, male connector, CANBus, 120
: EEM 33-47, P/N 056147

« Mounting nut M18x1,5, Z-TH1-M01, P/N 056090

BRI —TI—R
6 : CANopen A 5 —=J1—X

1:1 X pos. 28 Sumé& 1 X vel. 2F8E 0.5mm/s (1 PG fix)
311 X pos. HfREE 1 umE 1 X vel. HiEEE 0.1mm/s (1 PG fix)
5:2 X pos. HEEE B uméE 2 X vel HEEE 0.5mm/s (2 PG fix)
B6:2 X pos. HEEAE 1 um & 2 X vel. HiEEE 0.1mm/s (2 PG fix)

CANopen A V49 —Jx1—2R6__

R—L—h 1000kBaud. F7#)Lk/—RID127
M—L— bk 800kBaud. F7#/)Lk/—KID127
H—L—bh 500kBaud, ¥7#ILb/—KID127
R—L—h250kBaud, F7#/Lb/—KID127
M—L—h 125kBaud, F7#/Lb/—KID127
Mm—L—hk50kBaud, F7#)Lb/—KID127
M—L—b 20kBaud. F7#/Lh/—KID127
M—L—h 10kBaud. 77#J)Lb/—KID127

CONOREWN -~

XA
105:1 X [EC130-9 6EVNIRYY
106:1 xM12 5EYAIRISY

0 2 -6 1 3 -1

AR
102: 29U 1—2752Y M18x1.5. £O=R H'5 30 mm
104: 22Ua2—=75>T M18x1.5. EO=RH5 51 mm

T H1 -0 800 -1 0 6

SIBMND 7.5mm R FifE
EEBMD 7.5mm XU FfHE

106: 22U a2—757Y M18x1.6. £OR 15 30 mm. Ov RODiHICHAL M4
108: 22U2—=75>7Y M18x1.5, EOxRNS 51 mm. Ov ROIFICHAL M4
RISV 3/ 4 16unf IEEDIMODEMAEESHFCEL(ICHRUT

JU-x Lo

n ZEHEEE
Y wWE— - 7RISR
E%%J%E%%om 4260 mm T 355-0311

BEBEREVNIEES 2452-5
E-mail : NovotechnikJP@b-plus-kk.jp

HWE— - 7> R - IS X (& novotechnik #tDIERBARIBETT,

T621401Aj
Page 9 !

2021.04.12



